HAFRRILIS OMN ARNKAMNSAS

870-7419546 ~~ TOLL FREE: 800-369-4131
info@stullfeeders.com www.stullfeeders.com

UNIVERSAL
TRAILER




TRAILER ASSEMBLY - Page 1

e, 1
e e

R i,
-STEP 1-USE 3/8X1" BOLTS FOR ﬁOUNTfNG

S te 1 CROSS MEMBER TO TRIANGLE PLATES S te 2
-STEP 2-USE 3/8X2 BOLTS FOR MOUNTING AXLE

TO TRIANGLE PLATES

i

_STEP 3-USE 3/8X1" BOLTS TO MOUNT ANGLE
Ste 3 IRON TO TRIANGLE PLATE S te 4
p _STEP 4-USE 3/8X5" BOLTS FOR MOUNTING p

SQUARE PIPE OVERLAP FOR TONGUE

-STEP 5-INSTALL HUB ASSEMBLY KITS ON BOTH

AXLES(USE HIGH TEMP BEARING GREASE FOR
S te p 5 PACKING BEARINGS) S tep 6
-STEP 6-INSTALL TIRE ON EACH HUB USING LUG NUTS

PROVIDED WITH HUB KITS




TRAILER ASSEMBLY - Page 2

-STEP 7&8-USE GOLD
3/8X3" BOLTS TO MOUNT
COUPLER AND JACK TO
TONGUE

**USE SILVER 3/8X3" BOLTS TO MOUNT JACK TO BAC

S te 7END OF TRAILER S le 8
p *OPTIONAL TRAILER JACK ASSEMBLY ON BACK p

NOT SHOWN**

" Step 12
Trailer must be decked with plywood and
Step 11 feeder bolted through plywood and trailer on
corners. (Plywood NOT INCLUDED)



	Blank Page
	Blank Page



